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Question61:-Identify the correct answer
Don't talk while | am teaching, ?

A:-do you?

B:-amn't you?

C:-will you?

D:-aren't you

Correct Answer:- Option-C

Question62:-Find out the one word substitution To follow a route which is not
straight or direct

A:-moor
B:-meander
C:-maggot
D:-none of these
Correct Answer:- Option-B
Question63:-If | had enough money, | a flat.

A:-would buy

B:-would bought

C:-would have bought

D:-will buy

Correct Answer:- Option-A
Question64:-They cricket every Sunday.

A:-plays

B:-play

C:-playing

D:-is played

Correct Answer:- Option-B

Question65:-Choose the correctly spelt word



A:-consegence

B:-consequence

C:-concegence

D:-consegeunce

Correct Answer:- Option-B
Question66:-People belonging to a high social class is called

A:-gaily

B:-gobble

C:-gruel

D:-gentry

Correct Answer:- Option-D

Question67:-If you work by fits and starts, you won't succeed. Find out the meaning
of the underlined idiom

A:-steadily

B:-unsteadily

C:-regularly

D:-sensibly

Correct Answer:- Option-B

Question68:-One of the students missing in the class.

A:-are

B:-were

C:-have

D:-is

Correct Answer:- Option-D
Question69:-Find out the antonym of the word, "absurd"

A:-irrational

B:-sensible

C:-nonsense

D:-ludicrous

Correct Answer:- Option-B

Question70:-Change into indirect speech :
Martha said, "l was near to the back door"

A:-Martha said that she had been near to the back door
B:-Martha said that she had near to the back door
C:-Martha told that she was being near to the back door
D:-Martha told that she is near to the back door



Correct Answer:- Option-A
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Correct Answer:- Option-B
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Correct Answer:- Option-C
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